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INDIAN ECONOMY, GLOBALIZATION AND SUSTAINABLE
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Instructions : The question paper.consists of five Section. Each Section
carrying 40 marks. Section.— 1.is compulsory and contains
twenty objective questions, Each carrying two marks
(20%2=40). Sections — II to V. eontaimhtwo optional long
deseriptive questions each. The eandidate is required to
answer one question from each Section.

s ;| yvd ua ute @E A fa9Fd & | Wi @S 40 3% #1 8 | @vs - 1
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SECTION -1
g - |

1. RBI can restrict credit creation by Commercial Banks by
I) Increasing bank rate
II) Selling government securities to banks
III) Reducing cash reserve requirements
IV) Rediscounting more bills

Choose the correct answer from the options below :
(a) Tand II (b) II and III
(¢) HTand IV (d) Iand IV
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et et e sataaTiiss St 510 9@ g w1 = 3yt g Frafa o g 2
I) &% =g
IT) St i TR wfegfEt i S

I1I) 78 1Y TSI HAT I T2 T
IV) st foredi 1 gsigr o

Fr=feRea fasreat & & vt s A
(a) IR 1II (b) II 3f% I11
(c) III 3k IV (d) 13RIV

2. Inflation is due to
(a) Demand for higher incomes
(b) Rising demand not aecompanied by rising supply
(c) Structural imbalanees’in the economy
(d) All of the above

TaTehIfe T FR B
(a) =9 A 1A
(b) i gf =9 S 3T 1 7 €
(c) ST HHTHAHS I
(d) ITtEa asft
3. What among the following forms the largest components of GDP in India ?
(a) Consumption expenditure (b) Investment expenditure
(c) Export . (d) Impert
WA 3 Fehet SR IS 1 (TEACTREY 5.8 shil Tod shgl 371 § ¢
(a) 9% =77 (b) P =
(c) Frfa (@ s

4. Which item among the following is not included in the current account of
balance of payments ?
(a) Export and import of goods (b) Export and import of services

(c) Transfer payments (d) Net borrowing from abroad
PrefRifae & & e 72 e 919 3 are w3 e T g 2 7
 (a) TG w1 Fafa o s (b) Hamadi &1 fafa wd s o
(c) FIHT=IT YT (d) foremi & & 60T
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5. Narsimham Committee — I was appointed for
(a) Agricultural sector reform  (b) Industrial sector reform

(c) Insurance sector reform (d) Banking sector reform
wiyen wfifa — 1 < FgfR formes fg i g oft 7
() F & % gur TG (b) shenfires & % guw ¥g
OELIEEEE: I (d) Sfem &= # gur gg
6. Which of the following is not considered as a national debt ?
(a) LIC Policies (b); Long term government bonds
(c) Provident Fund (d)»National Saving Certificates
o § & el g o 7 g ST | 7
(a) Sfra sffe Aferelt (b) Freishel ERer e
(c) wfass ffy (d) UiT s=9a U

7. Capital formation denotes
(a) Flow of expenditure devoted to increase the capital stock
(b) Net addition. to capital stock after depreciation
(¢) Production exceeding demand
(d) Expenditure on Physical assets only

5 Fator e 2
(a) Isft % wie  gfg vy foan T2 =42 yarE
(b) st 3 e ¥ foraae <79 o @iie Y& Iia
(c) AT R 3IcaTEA 1 HAfei
(d) haet sitferes gicarafa ot feran a1 54
8. The estimated average rate of domestic saving in India currently is in the range of
(a) 15 to 20% (b) 20 to 25%
(c) 25 to 30% (d) None of these
ST § W 3 SR = Y FATHG a2
(a) 158 20% (b) 20 & 25%
(c) 25 & 30% (d) T & F13 TE
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9.

10.

11.

12.
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“Towards faster and more inclusive growth” was the goal of
(a) 9* Five Year Plan (b) 10 Five Year Plan
(¢) 11* Five Year Plan (d) None of these
“ o wa srfere wmmasf fasm i 3 A i @ S dema Aeg a1 ?
(a) T geedfa G (b) TG geasig TS
(c) ™TEdt yata FT () 78 & 7

What was the rank of India in HDI among 188 nations of the world in the year
2016 ? '

(a) 130 (b) 131
(c) 132 (d) 133
2§ 2016 # HDI # fama 188 27 ¥ <fisi sfifei &bt €71 11 o7 7
(a) 130 (b) 131
(c) 132 (d).138
Sustainable economie development depends on
(a) Investment, not saving (b) Saving, not investmient
(c) Both saving and investment (d) Neither saving nor investment
Haq, e fereprg vl sar @
(a) Fdm, 7 wr=m (b). =i, 7 foF T
(c) s=a wd a9+ (d) 7 a1 &= 7 Fraw
At present 100% FDI is not allowed in
(a) Defence (b) Drugs and Pharmaceuticals
(c) Banks ; (d) Insurance
A A 100% weaet faeht i (FDI) Y srafs e da 3 i 2 2
(a) T (b) gt
(c) =i (d) sfir
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13. Which one of the follﬁiWing gets maximum share in the total subsidy given by
Central Government of India ?

(a) Food subsidy (b) Fertiliser subsidy
(c) Export subsidy (d) Petroleum subsidy
WRA 1 FAT TN Z Saw Fd 1ger # fre # & fopgan fewan stfrram 2 7
(a) TG IFE (b) @ 3
(o) fafa srgem (@) Fgifcrm sigeH
14. In the last decade which sector has attracted the highest FDI in India ?
(a) Fertiliser (b) Insurance
(¢) Telecommunication (d)' Feed, Processing
et qvres 1 i 1 @ for & Fiiees FDI 9 & o01 & 7
(a) @R (b) =T ‘
(c) RER (d) @ e

15. According to new series of national income, released by the CSO at
2011-12 prices, the share of agriculture in total GDP in 2013-14%as
(a) 12% B)l5%
(c) 18% (d) None of these
CSO &1 SR} forg e siter 2114 & 7 $AERST % 77w 201 1-12 h FHAR F& GDP & iy
%1 f&ea 2013-14 AR o 7
(a) 12% . (b) 15%
(©) 18% (d) 379 & ig &l

16. Globalisation of Indian economy means
(a) Establishing business units aboard
(b) Giving up programmes of import substitutions
() Having minimum possible restriction on economic relation with other
nations ;
(d) Stepping up external borrowing

VR Jrefegaed & sHeeien 1 39 &

(a) T & e gemmgat wonfia &

(b) maTa SfeeTdT 3 FHrdsEH w1 R

(¢) 3= <¥N % |1y T Hey W AaH Gurey Frizr
(d) forsft=mor & gfg @mn
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18.

19.

20.
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What is the main basis of economy of Jharkhand ?
(a) Agriculture (b) Industry
(¢) Mining (d) Transfer
FEE i 7T 1 T AR F1E ¢
() B (b) &
(c) @ (d) uftEes

In 10* Five Year Plan, how much money had been allocated to Jharkhand State
by Planning Commission ?

(a) Rs. 14,632 crore (b)sRs. 24,850 crore

(c) Rs. 20,480 erore (d) None of these
10 i TeradTa ST & ST JrET S B SRE S T i et qrT s7afed 1 of ?
(a) ¥ 14,682 %08 (b) ®. 24,850 FS

(©) % 20,480 FE () T & Tl

From the view point of population, what is the rank of Jharkhand among
Indian States ?

(a) 11t (b) A8

(c) 13® (d) None of these
SEEAT 3 g & MG, Tl o A FREUS, i S hid &€ ¢

(a) 11af ®) 124t

(c) 13 (d) 8 & IS e
Which of the following area has the maximum forest cover in Jharkhand ?

(a) Chatra ; (b) Hazaribagh

(c) Ghatshila (d) Ranchi
Treave # i 3 i w1 8 waifes sAerd @ 7

(a) FqU (b) TSI

(c) =t (d) T=h
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SECTION - 1I o

@ue - |l

Discuss in detail recent changes in composition and direction of India’s foreign trade.
T & F wredta fdeht SR ) e o R # gu aied e ==t = |

OR /3tean
Discuss in detail the impact of W.T.O. on Indian agriculture.

R F W f&va SR @1e & yare A fwga e |

SECTION = III
@vg - II1

Discuss various provisions in latest National Food Security Act. Show that the Act
may reduce insecurity among low income people.

FaaH T @ gean stk & i yaaet v avh i | i & g sfufes
1 31y =l ) @ EREN W FH A H TEEe B |

OR /sterat
How ‘inclusion’ is measured ? Do Indian data shew economic inclusion in
employment and primarv/secondary education ?

GRS %1 Y AT ST R ¢ &A@ USTR Ua wTfes /mreafien e & gu snfifes
THEYH S qeriar ® ?

SECTION _ IV
@vg - IV

In the light of the parameters used for assessing economic reforms, critically examine its
impact on Indian economy.

3T GUR & Hearsh T Tgad AIIue] ht & # T g Nd1g sdegeey] |
7% T I e Tt HIRvT |

OR /3eat
Examine the defects of agricultural marketing in India. What steps are being taken
by the govt. to remove them ?

WG H Y SR o 4161 st gten AR | 353 fem & T R g0 #-%9 @ Fa
RVUMRE ?
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Discuss the present industrial policy of Jharkhand Government. Examine the steps
undertaken by the govt. to promote industrial development.

FREUE TR shl Faa™ refies ifd i e Hifsg | shaifies fawm #i ag@r

% foTe, T g1 33TT 71T shedl it wien Hifs |

OR /ateat
Discuss the causes of poor performance of agncultural sector in Jharkhand Suggest
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